LR ek D#EFr E TR I HACER AFEH X LRALIEIS
oM T FE

1 £ACLDEABHREBUERE
FEET] A 4 5 6 7 8 9 10 | 11 12 1 2 3 || £FEat
",:‘.‘ 938 882 855 979 902 865| 1,108 871 7,400
EEL’W Q 2,687.8712,419.14]|2,337.55|2,744.44]2,626.37|2,332.20|3,140.41|2,437.79 20,725.77
*’%ﬂ:*ﬁtﬁ :J=' ",:‘.‘ 259 357 308 360 189 330 265 279 2,347
! =348 Q 754.3211,024.40| 867.75/1,030.99| 535.86| 945.36| 761.11| 797.53 6,717.32
= é." 1,197] 1,239 1,163] 1,339 1,091 1,195 1,373 1,150 0 0 0 0 9,747
ﬁ+ Q 3,442.19]3,443.54]3,205.30|3,775.43]3,162.23|3,277.56| 3,901.52| 3,235.32 0.00 0.00 0.00 0.00" 27,443.09

2 WFRIKKESHIER

(BRAIE)
[ STEDNZ | Bfy | ZEB |48 |58 | 6H | 78 [ 8A | OA [10A|11A[12A] 1A | 2H | 38
KFRAFRE|pH 58~86] 68 71| 6.7 66 69 64] 64] 62

EMFHBRRERE|mg/L 20LLF 27| 66 86f 65 78 34 6.9 1.3

EEHBEERE|mg/L 1604 24 37 35 49 39 48 50 56

FHEYESE |mg/L J0LLTF 11 13 11 3 161K i 2 2
BIEMAA [meg/L - 60[ 79] 130] +110[ 130] 50[ 100] 55
BERIEEE [ms/m 96| 170 190] 200] 200[ 110[ 180] 120

KiEEEEER |{8/cm J3000LLF 0 0 0 0 0 0 0 0
EF2H= |me/L - 170l 480 140 140[ 130] 100[ 100[ 100

BEBAE [mg/L - 1.10] 1.80] 0.46| 0.35] 1.70] 0.09] 0.35] 0.28
BE E | - 75| 84] 60 50 65] 22] 70[ 40
EEH 4A16B|5A78|6848|7828 (8868 |9B38|10A18|11A5R

3 MK ZEBE DR (BRKKESFICMATTRIEBZ2HT)
(F2ERFE 7. 18

(SEOXZR | Bfu | REE | 48 |58 [ 6A | 7H [ 8A | 9H [10H[11A[12H] 18 [ 2H | 38
iR EA A E|mg/L 0L | - - IES: - - - - - - -
ToEZTHER|mg/L - - - - 70 - - _ - - - -
HAEHMEER|me/L - - - — 12300 - - - - - — —
EEBEER |me/L - - - - 170 - - - - = = —
TUEST.TUECTIE R
. EHBIE &K |mg/L - - - - 53 - - - - _ _ _
UIEERIE &Y
7x/—)L3E |mg/L 5L - = — o1k - - - - - - =
| &&/E |me/L | 3LF | - | - | - | ool e e - E—
HISEE |me/L 2LLF - - — 0025 - - - - - = -
BREMHKEEE|mg/L 10LLF | - - — 0.09 - - — — - — —
Bt EHE|mg/L 10T | - - - 0.02 - - - - - - -
YOLEFRE [meg/L 2LLTF - - — Joork® - _ - _ - - -
WWLARTEEYImg/L  J0.03LLR] - - —  |oooskis - - - - — Z _
T AEEY [me/L 1UTF - = — |01 - - - - - - =
BREHIEEY]me/L 1LLF - - — o1k - - - - - - —
B MMEEY|me/L 0.1LLF - — — |oot®k& — - - - - - -
Ao 0LiEE%mg/L 0.5LLF - - - |oorki# - - - - - _ -
HEEVIEEW|me/L 0.1LLF - - — o005k - - - _ Z _ ~
KEBRUTILFIL
7K§E%{g)it%g)7kﬁﬁ mg/L 0.005LLF] - - — | 00o00s5ki% - - - - - _ _
BEROEEMme/L |10 | = | = | = [ 008 | o o o = ——
SORBRMIEEY]|mg/L 8L - - - Joikis - _ _ _ _ - -
¥ EYH — - - |7828] - - - - ~ ~ -

4 [FVERIERER
(F2EAE 68, 128)
STE0Ox% | Bfu |48 |68 |68 | 7B [ 8H | 9A |10A|11H[12B] 1B [ 2A | 3H

TV CAERE [e/mMN - — [ooikm| - - - = = -
HEBRIEMEE]|ppm - - Nx#F - - - — _ - _ =
ERRIEYMEE]ppm - - 15 - - _ _ — _ _ -

HERA| - - leg4B| - - — - - - - -




5 ELRKEDTHER

(F3EAE 58.98. 1) _ _ _ _ _ _ _ _ _
STEOXZ | Bfu |48 (58 |68 | /A 88 [ 9A [10A[11A[12A][ 1A | 2A | 38
KFRAFiRE]pH - 76| - - - 1.7 - - - - -
EYFENBEERE|mg/L - [ 7600 - - - [2500] - - - - -
L FHOBRERE|mg/L - | 1,500 - - - [1300] - = = - -
FEMEE [me/L - |8700] - [ - [ - T2600] - | - [ - - | -
EXEHE |mg/L - [t100] - [ - [ - [1100[ - - - - -
BEEE |me/L - [ 1o - -1 - 62] - [ - [ - - | -
ZAFEREY |me/L - [7200] - [ - 1 - T9100] - [ - [ - - [ -
SREVER Y |me/L - l4600] - | - [ - [2200] - - — — —
mmBE] - [sA7a] - [ - [ - [eAsA][ - - - - -
6 fiEtBKEDIHER
(ZF£3EAE 58.98.148)
(STEDx% | Bfu |48 |58 | 64 | 78 [ 8A | OH [10A[11A[12A] 1A | 2H | 31
KEAFVEE|pH - 80| - - - 82 - - - - -
EYFNBRERE|mg/L - [3200] - - - [1.200] - - - = =
L ZOBRERE|mg/L - [1,000] - - - 760 - = = = -
FYMEE |me/L - 350 - - - [1500] - - - - -
EFEHE |me/L - 910] - - - 820 - - - - -
BEFE [me/L - [ too] - - - 6] - | - [ - - | -
RFEREY |me/L - [ 4400 - - - | 4000 - - - - -
| GRZMEEEY) Ime/L - 1800 - [ - T - T2900 - [ - [ - - | -
®RERRE] - [5A7A] - | - | - JeA4A| - | - | - -1 -
7 BUKFIRBEHDER
(F1EEIE 68)
[ STEOXZR | Bz |48 |58 |68 | 7B | 88 | 98 |108[118[12A] 1A | 2H | 38
7L ILKBIEEY|meg/L - —  |oooskm| - - - - - - - - -
JKEB XL EWIme/L - —  |oooskis — - - - - - - - -
WA IFIEEW|meg/L - - Joork@m[ - - - - - - - - -
X IFIEEY|me/L - - Jooixm| - - - - - — — - -
FRBEEEY|me/L - - [0tk - - - - - - - - -
iYLt &Y me/L - - |ooik®ml - - - - - - - - -
MRX(FEED|mg/L - - [oooskim[ - - - - - - - — —
T AEEY [me/L - - Joiki#E] - - - - - - - - -
RUEETz= )L mg/L - —  |ooooskm| — - - - - - - - —
r)oooTFL2Img/L - - |oorkm| - — — _ Z Z _ = -
ThSyooTFLrmg/L - - ootk - - - - - - - - -
20022 Img/L - - Joozkm| - - - - - - - - -
PiEfERE |me/L - e - - - - - - - -
1,2->4a0x4>|mg/L - —  |oooskim| - - - - - - - - -
1,1->90aI4  mg/L - - ook - - - - - - - - -
Ya-1,2-v"ya1iby mg/L - - |ooax@E| - - - - - - - - -
1,1,1-M)90014 mg/L - - Josxm| - - - - - - - - -
1,1,2-M)40014Y|mg/L - —  [oovskim| — - - - - - - - -
1,3-9a07'0AY mg/L - - |ooo2kim[ - - - — — — — — -
FI5 L mg/L - —  Joooskim| — - - - - - - - -
ROV |mg/L - = [ooosxim| - - - - - - - - -
FARHIL T |mg/L - - loozkm| - - - - - - - - -
Ryt mg/L - — |ootkiE| - - - - - - - - -
LU XIFEEYmg/L - —  |oooskiE| - - - = = = = - -
14-OFFH 2 Img/L - - |ooskié| - - - - - - - - -
el - [ - [eAs8] - [ - [ - - - - - - -




